BAUMGARTEN

3m
|

2m

m
|
Mst. 1:150

[ T 1

Zimmer
12.4m?

3.6m?

WC

Loggia
5.1m?

O
Zimmer
14.1m?

/
I

Zimmer
14.0m?
Zimmer
ﬁ 14.1m?
| I
)
=\
)

WM
TU

@)

CO
4.5 Zimmer
B-203

. Wohnen/Kochen
48.0m?

C

4.5m?

©

Bad

Loggia
13.9m?

]
|

Wohnungs-Nr.
Haus Buche/Flieder/Kastanie

Haus Kastanie
mit Dusche statt
Badewanne

Wohnungs-Nr.
Haus Buche/Flieder/Kastanie

Wohnungs-Nr.
Haus Buche/Flieder/Kastanie

Haus Buche / Flieder / Kastanie

2. Obergeschoss
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Zu jeder Wohnung gehdrt ein Kellerabteil zwischen 6.0 und 9.2 m2.
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